Escribe la respuesta correcta para cada multiplicacion.

5x5
6X 3
3x 10
2X 8

UUuL

4x9

1x 8
2X 2
8 X 1

UL

9x 5




Escribe la respuesta correcta para cada multiplicacion.

71X5
4 x 3

1x 10=

2X 8
6X9

1x 8

9x 10
4 x 1
7X5

JUuuutuu

7 X 10=[:



Une con una linea la respuesta correcta para cada
multiplicacion

5x 10 50

3x7 20

6x1 12

Tx 11 27

-

;4x3 49

:9x3 i21

2x10 6

Tx7 77




Une con una linea la respuesta correcta para cada
multiplicacion

4X6 42
:6)(7: =
5x1 24
2x2 63
:1x3 4
:7)(8: 56
8x9 72
:9x7: 3




